6. (a) 4m~6_mm: ;
() Callbyvalue
(i) Callby ‘aﬁm_,m:om; |
(b) Writea nqomq_ma in C* which read a set of
character using pointer then print in the
reverse order. i
7. (a) Explain mmsméam. L
(b) Explain o_o_.mow o:,mima paradigm.
" (c) Whatis OOAand 00D ?

8. What are the access modifier available in C**

class ? Explain them with example.

.
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Time : 3 hours
.n§ ,mex,m : 80 ‘
OmJQ\QmN,,m\m are required to give their e
- their own s\o&w asfar as b\mn:.om,o\m.
The figures in the margin indicate full marks.
. bawS\mlxoS both Sm,mno%,m as directed.
Q_.o:v -A ,
(Objective-type Questions)

‘Answer all-questions.

1. Select the correct answer of the following .

2x10=20
oot ea
(i) Object
,av ;,O‘_mw,m. A
(i) Function
AZV Imuam?z.m
ME — 7/1 .
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(b) <<iscalled:
(1) Insertion operator
, (ii) ,mxmqm%o: operator
(iii) Object
(iv) Header. file
~ (¢) Thefor-loop is best if we know :
Al _u_xma :o oﬂ «mvmﬁ_o:
:_V Condition
c__v <m_cm for om_oc_mzo:
(iv) No.of vaﬂ_co: is not ﬁ xmo_
av In O++ main o is m_wo -
) Immamﬂ file
(i) Function
(iii)- Object
(iv) Class

. (e) Outof *o__oé_:u which oneis notthe _Am<<<oa.

in O++ ?
() Aray

(i) ¥

(ill) ‘Else
() Data

. ME=7/1 (3% 160 et

® Unionisa:
| S, : _uo:ozo: mer
(i) Headerfilein C**
(i) Keyword'in C**
(iv) ObjectinC™
(9) The output of the ,ﬂo__os\_:@ macro s if we om__
that _o<m 3+Nv E:mﬂm: m
#am::m_ugs*:
iy 20
| ‘\av 64
o
Ll s
(h) Objectis :
L (i) _:mﬁm.:om of class
. (i) Instanceofint
(iii) _:mﬁm:omogoﬁ
(iv) Not available in oops
() Constructorisa:
Y@ Member function

(i) Member data
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(ii) Object
(iv) Class
. Wc:-:Bm no_<3062m3 is done _u< P
. (i) Virtual function |
(i) " Static binding
,.ﬁ\::v Constructor overloading
; (iv) Ovm_,mﬁowo<m_,_oma3,@ .
Group — B ‘
:.o.,:m-m:m,im_. Type Dcmm_so\:mv
Answer any mo,:w.n:mwﬁmo:m of ﬁmm following =
o 15%4 = 60
2. @ _mxn_mmn Em following : -
0 (i) Oo:zb:m Statement
:o Go ﬁo_m»ma:‘_m&
(b) Whatis inline function ? Explain with mxmB_o_m,.
3. Amv ,mx,n_mm: the following oo:wmn» with mxman_m”
3 Pass by value ,
A:v Pass by address

(iii) Pass by reference

ME-7/1, . (4) Contd.

(b) Write a function in c** which calculate the
root of mxm + bx + ¢ = 0, call this function in

" main program. Where root of equation are -

| ~biyfb?-dac S

W

e 2a
,1, rc._)\cmubmo

4. (a) What is the difference between structure m,ja
class ? | L
(b) <<:mﬁ is oo:.ma.coﬁoﬂ and ammﬁq:oﬁoﬂ ?

g Explain inheritance.

5. Design an oop program in C*™ to create the

payroll of an wo_‘@m:mmmmo: by the following
information: , _

(a) Employee name

(b) Employee-id

(o). >on.oc:~.:c3_um__.

(d) Date of joining

(e) mmmmo pay
() DA HRAetc.
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